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Fiber 684, dchi2frac= 1.0
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Fiber 4594, dchi2frac= 1.0
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model
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Fiber 2846, dchi2frac= 1.0
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model
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Fiber 2248, dchi2frac= 1.0
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model
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Fiber 4441, dchi2frac= 1.0
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Fiber 954, dchi2frac= 1.0
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Fiber 582, dchi2frac= 1.0
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Fiber 1336, dchi2frac= 1.0
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Fiber 991, dchi2frac= 1.0
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Fiber 982, dchi2frac= 1.0
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model
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Fiber 2617, dchi2frac= 1.0
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model
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Fiber 910, dchi2frac= 1.0
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Fiber 4818, dchi2frac= 1.0
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Fiber 2321, dchi2frac= 1.0
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model
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Fiber 581, dchi2frac= 1.0
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model
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Fiber 2543, dchi2frac= 1.0
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model
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Fiber 799, dchi2frac= 1.0
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model
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Fiber 2516, dchi2frac= 1.0
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data
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model
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Fiber 1009, dchi2frac= 1.0
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data
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model
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Fiber 780, dchi2frac= 1.0
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Fiber 4898, dchi2frac= 1.0
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model
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Fiber 2928, dchi2frac= 1.0
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model

1.01.52.02.53.03.5
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Fiber 2646, dchi2frac= 1.0
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model
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0.080.060.040.020.000.020.040.06

Fiber 4922, dchi2frac= 1.0
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Fiber 1170, dchi2frac= 1.0
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Fiber 4485, dchi2frac= 1.0
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Fiber 700, dchi2frac= 1.0
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Fiber 4315, dchi2frac= 1.0
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Fiber 4422, dchi2frac= 1.0
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Fiber 2726, dchi2frac= 1.0
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Fiber 712, dchi2frac= 1.0
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model
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Fiber 4165, dchi2frac= 1.0
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Fiber 1452, dchi2frac= 1.0
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Fiber 2935, dchi2frac= 1.0
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Fiber 4968, dchi2frac= 1.0
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model
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Fiber 4901, dchi2frac= 1.0
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Fiber 2560, dchi2frac= 1.0
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Fiber 2107, dchi2frac= 1.0
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Fiber 1100, dchi2frac= 1.0
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model
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Fiber 2231, dchi2frac= 1.0
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0.60.50.40.30.20.10.0

Fiber 1031, dchi2frac= 1.0
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Fiber 4024, dchi2frac= 1.0
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model
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Fiber 4999, dchi2frac= 1.0
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Fiber 988, dchi2frac= 1.0
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model
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Fiber 2711, dchi2frac= 1.0
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model
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Fiber 2714, dchi2frac= 1.0
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Fiber 832, dchi2frac= 1.0
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Fiber 2689, dchi2frac= 1.0
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Fiber 4832, dchi2frac= 1.0
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Fiber 4489, dchi2frac= 1.0


